Year 4 Vocabulary

Tenths
Decimals A and Decimals B Whole
Part 1 000 0000 tenths  hundredths
10 (Part 1) Q00O decimal
10 partition
I There arewholes andtenths. equal part
1 _ whole number
The number is 3.7 halves quarter
1
10 100 100 100 100 100 100 100 100 100 10 Tenths | Hundredths three;qluzrters
| ! I | | | ! ! 1 | | valu
IIJ oéu 0:32 0:13 0:14 01le otlm oén 0;3 0:19 o|1 000,00 000 zero place holder
o digits
1 one tenth 1 hundredth greater than less than
9000 @ orl 10 L 1 Thereare | 3 Jones. smaller
00009 11000 10 10 Thereare | 2 |tenths. place value column
100 There are hundredths. equivalent
(|) L 1 1 1 | ] T The number represented is roundmg
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Year 4
Decimals A and Decimals B
(Part 2)

Making a

whole

Q Q

Hundreds

Tens

10

—)

= 100

Partitioning
tenths and

hundredths

When dividing a number by 100, move all the
digits two places to the right .

Here is her answer.

Alex uses the Gattegno chart to divide a
different 2-digit number by 10

200

300

400

500

600

700

800

900

@ | 20

30

40

50

60

70

80

90

1] 2

3

4

6

7

8

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

15+10=1.5

@Walmsley C.E. Primary School
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What was her original number?

0 < 01 02 03 0.4

Rounding

decimals

05 06 07 08 0.9 1

If the tenths digit is
1, 2, 3 or &, we round down to
the nearest whole number.

|

5. Round to the nearest ten pence

£3.88
£0.72

£3.90
£0.70

Rounds to

Rounds to

Round to the nearest pound (£)
£15.72
£784.39

£16.00
£784.00

Rounds to

Rounds to

Fractions
and
decimal
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@ Year 4 Vocabulary
Money pounds

pence
I XX XX I X oo
estimate

10p 20p 50p partition
one penng two pence ftve pence ten pence twenty pence fifty pence one pound two pounds What do these words mean? / VaIU e
Ascending — Smallest to greatest I_I_ approximately

Descending — Greatest to smallest —|¥ ascending
descending

¢10 ‘ ..'\,_ Aadb)
S S

® ==
£10 £20 £50 o
five pound note ten pound note twenty pound note fifty pound note E:-tl_m t_'l_tlng
money
o 463 = £4.63
oundas
and
. ‘ @ & 705p = £7.05
£3and 25 pence  £3.25 92p = £0.92

£52 and 13 pence  £52.13

We can compare or order amounis by changing .all amounts to either pounds or pence.

Order in ascending order: ' .
£4.82 428p " . ﬂ’:ﬁ'ﬂ
516p 156p £1.65 £6.51
£4.82 = 482p
482p > 428p £1.65 = 165p and £6.51 = 651p
£4.82 > leBF 156']' £1.65, SIﬁ'p, £6.51 w&v}?]g]ssllsysCE Prunary School




Number of Vocabulary
60 minutes = 1 hour January 31 T| me in a day. leap year
24 hours B 1 day February 28 or 29 : mon;hs weel_<s tdays fogtnight
ours minutes seconds
_ March 31 .
7 days = 1 week — - morning am
4 weeks = 1 month prt afternoon pm
12 months = 1 year May 31 duration
June 30 analogue digital
July 31 24 hour
= noon
100 years 1 century August 31 . 00 .
midnight earlier later
September 30
~"'\,\
e | (MBI e e
5 November 30 o ,
urations .
of time December 31 m m m (\(.a 14:00 2 pm.  gclock

( L 1500 3pm. 4o

o'clock

A 3
30 days has September, m m
April, June and November,
All the rest have 31 ' '

There are
60 minutes
in an hour.

4
( l 16:00 4 pm. e

There are '(_\
TN s
in7ud\(:/yeseh Except February, 28 days here - 05:00 m m - L 17:00 5pm. g
Or 29 in each leap year. T 6
(I 1 06:00 6 a.m. om G’/ 18:00 6 p.m. yeiock
There are There are There ar; Ls.
60 seconds 24 hours 12 months TR 7 S8 7
it anrminite: in a day in a year. , ,T j 07:00 7am. gcock 7 pm.  gclock
ET™h 8
0800 sam

half past three in the afternoon

Analogue twelve quarter past v 0900 9am. oo
and digital o'clock twelve ™ 0
: - (5 J 4 10:00 10 am. ek

clocks

AU R 11
(c 2 11:00 11am.

o'clock

To convert between analogue and digital clocks, if
the time is in the afternoon, start at 12 and count

uarter to wF
@Wa{msley C.E. Primary School on... (12+3=15) q' o F\ 12

one ‘L 12:00 12pm.

Where getting better never stops
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Right angle
The intersection of perpendicular lines
creates a right angle.

Acute angle

Any angle measuring more than O degrees
and less than 90 degrees is acute.

b

Obtuse angle
Any angle measuring more than 90 degrees
but less than 180 degrees is obtuse.

90°

120°

Patterns and shapes can be reflected in a mirror line.
Mirror lines can be ~vertical, horizintal or diagonal.

il

" Asquarehas  Arectanglehas  An equilateral An isosceles

four lines of two lines of triangle has friang!e has one

symmetry, symmetry. three lines of line of symmetry.
symmetry.

HE A

Triangles have 3 sides and 3 wertices. The
total of the angles in a kriangle is 180°.

An equilateral
triangle is a regula

polygon. It has sides
of equal length and

each angle is 60°.

An isosceles triangle

r

Year 4

has two sides of equal

length and two ang
of equal size.

A right-angled
triangle always has
one 90°angle.

It can be isosceles
scalene.

A scalene triang

Quadrilaterals

has no equal sides

or angles.

A rhombus has
two lines of
symmetry.

A square has four sides of equal
length and four right angles

A rectangle has two pairs of
parallel, equal sides and four

Vocabulary
Angle
turn
clockwise
anti-clockwise
full/half/quarter
acute obtuse

S h a pe (90°). Asquare is also a rectangle, right angles. A rectangle is rig ht ang le
a rhombus and a parallelogram. also a parallelogram. triangle
rectangle
les square
Parallel Lines pentagon
‘ ’ b . hexagon
! ) A rhombus has four sides of Octagon
A parallelogram has two pairs of equal length and opposite equal equilateral
parallel, equal sides and opposite angles. A rhombus is also a _qu
equal angles. parallelogram. isosceles
scalene polygon
or regular
irregular
quadrilateral
. parallel sides
< A kite has two pairs of adjacent perimeter
A trapezium only has one pair of equal sides and one pair of line of symmetry
opposite parallel sides. opposite equal angles. symmetri cal
horizontal
_ vertical
vt | amm | swwe | owim | 7am | sam | Mirrorline
or more sides. Triangle Quadrilateral Pentagon Hexagon Heptagon Octagon vertex
vertices
Regular Polygons
all sides are equal length and
all internal angles are equal
Examples of
Irregular Polygons
SR ESER P s ca mimg saca
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Discreet Yea r 4 vocabUIary
and Bar data
continuous charts . - Line sum
date
ake Statl Stl CS graphs scale
Data that is counded in whole numbers is A bar chart has a horicontal axis and a verbical axis. difference
discrete. In discrete data, values hetween Bars are used Lo show the data of sach calegory. Ther bar chart
whale numbers cannat be counted. mist be o gap bebween each bar. .
Data that is measured and therefore can _ A Line Graph to Show the Average Manthly Temperature in the Barnes Rainforest line graph
take on infinite walues is conkinous. Ln The scale of the har chart is based on the range of represent
conbinuowe data, svaluse hetween whaole . . .
ruimbers can be counked The scale on this bar chart counts in fives. o 0 horlzpntal a.XIS
“ & 20 . vertical axis
35 ' .
Frequency L] E— I \ pICtog ram
tables i e E. . \\ symbol
15 value
g 10 |E i \
Tally marks are wsed to help count things. 5
E.-ﬂ{:h.- wertical line fmm one unit. TM Ready Salted Salt and Vinegar Cheess and Onion = .
ffu.l_ j.aﬂ.u:}_mkq::&mm ﬁﬂﬁfﬂ}mﬁf — of Crisps Jan Feb  Maor  April Moy Ju:m:hul fuzg Sept Ot MWov Dec
J“ﬂ-kﬂ Boslar count.
The frequency column is completed afier all ~ The bars are horizontal 1y sets of data are shown
the data has been collected. on this bar chart. on this stacked bar chart.
The temperature of a cup of tea was
Eye Colour | Tally Frequency . 13 o i e 100 measured for 2 hours.
brown '|'H.L I & E E W 90—
ar 9
e MU | s ! 3 8ok
green | ||| 3 b : Player Goals scored = 17
wai : Yy ¢ 60— x,
9 llI I ¢ o 5 i 15 20 25 a0 : e 3 2 50— ~\‘\
hazel 'H“_ 5 Wamber of Children O Fe Mar Apr Alex @ § 40 \\‘x‘
Jack s 5 307 S
ac S g I 20 S
NN 10— =4
Pictograms Mo @ Lf L:/ I
! T 0 & T g\ 1 6" 1 ({l I ({I\
e W e W a 3 ? ? ? 2 ?
Rosie .. e e > X N o Ny
p= v . , K Time
. L@ . @ What was the time when the tea was 20 degrees?
@Wgﬂ?@iﬁzg%ﬁgﬁg&?sg School Key §%)=4goals |Whitney |© fo:30am




Year 4
Position and Direction_

Coordinates Coordi Grid Vocabulary
‘oo e Gn Plotting 2d .
Translation S Erml:?es P_OSItI_On
" axis direction
A .
coordinates
i Each wertex (corner) of a 20 polygan can be .
_ represented s a co-~ordinate on a 20 grid. pOInt
5 2D shapes
S (2,4) ° (triangles
3 ° square
5 ] 4 rectangle
1 3 pentagon
. G s (5.3) hexagon
U = % axis 2
0 1 2 3 4 5 6 octagon)
= 2 2 1
translate
' Remember, when plotting 0712 3 4 5 6 translation up
: e i down left
Points can be translated up, points, we use the x-axis first, 6 .
down, left and right il Gatls) ] right _vertex
y : vertices
“ horizontal
3 vertical
To help emember which point ko read ite first, ’ X axis 'y axis
0 Py M. Py LO5 WA
simply L o 1 (3,1) polygon
remember to mone ‘along the corridor and up the stairs.' o

In other waords, mowne on the x-axis and then mowe on
the yroxis.

Vertical Horizontal

Walmsley C.E. Primary School
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